Subject: Re: A little help
Posted by Vincent Sarago on Thu, 10 May 2012 12:22:18 GMT

View Forum Message <> Reply to Message

Nata is wright, but if you don't know the result size (8x8) you can try that :

a =intarr(10,10) + 1
a[*,4]=0
a[4*]=0

print, a
print

nRow = (size(a))[2]
b = list()
forii= 0, nRow - 1 do begin
test = where(a[*,ii] ne 0, count)
if count ne 0 then b.add, a[test,ii]

endfor

print, b
print

¢ = b.ToArray(TYPE=5, MISSING = VALUES.D_NAN)

help, c
print, c

END

On Thursday, May 10, 2012 2:10:47 PM UTC+2, nata wrote:
> Sorry, you have to use REFORM instead of REBIN !
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